
                                                                                                              
                WWW.SMITTYBILT.COM 

 
 

For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 West Artesia Blvd, Compton, CA  90220 

Installation Instructions 
Street Light Bar (Part # 120010) 

02-08 Dodge Ram 
Street Light Bar (Part # 120020) 

09-10 Dodge Ram 
 

  
 

Parts Included                              QTY 
Light Bar                                            1 
3/8” Washer                                       2 
3/8” x 1’ Hex Head Bolt                    2 
3/8” Nut                                             2 

 
Step 1:   Hold the Light Bar up to the face of the bumper where the round mounting brackets are flat against 
the bumper.  Use the top of the bumper to align the Light Bar perpendicular to the ground. 
 
Step 2:   While the Light bar is positioned on the bumper, mark around the two mounting brackets onto the 
bumper.  Next, remove the light bar and set aside.  You should now have two circular marks on the bumper. 
 
Step 3:   Mark a ‘X’ through each circle, this will give you the center.  Use a metal punch and hammer to 
punch a pilot hole through the center of the circle. 
 
Step 4:   Drill a ½” hole through the pilot marks.  NOTE:  Make sure the holes are free of metal burs. 
 
Step 5:   Align the Light Bar mounts to the drilled holes and place a 3/8”x 1” bolt and the 3/8” washer 
through the back side of the bumper and thread into the light bar bracket. After final positioning, torque each 
bolt location to 15-20 ft/lbs. Installation is now complete. NOTE:  Removing the bumper may be easier on 
some models.   
 

 
 
 

CARE AND MAINTENANCE 
To protect your investment it is recommended to regularly wash and wax this part. Do not use any type of cleaners that contain 

abrasives that may damage the finish of your part. 
 

LIMITED WARRANTY 
Smittybilt  (The Company) warrants to the original purchaser of this product that should the product or any part thereof, under normal use and conditions, be proven defective in material or workmanship within 5 years 
from the original date of purchase, such defect(s) will be repaired or replaced (At the Company’s option) without charge for parts or labor.  
  To obtain repair or replacement within the terms of the warranty, the product is to be delivered with proof of warranty coverage ( e.g. dated bill of sale, receipt), specification of defect, freight pre-paid with Returns Good 
Authorization Number from Smittybilt to place of purchase. Items returned to Smittybilt without a Returns Authorization Number will be refused and returned to sender at the sender’s expense.    This warranty does not 
apply to any product or part thereof which, in the opinion of the Company, has suffered or been damaged through altercation, improper installation, mishandling, misuse, neglect accident or acts of nature. THE EXTENT 
OF THE COMPANY’S LIABILITY UNDER THIS WARRANTY IS LIMITED TO THE REPAIR OR REPLACEMENT PROVIDED ABOVE AND, IN NO EVENT, SHALL THE COMPANY’S 
LIABILITY EXCEED THE PURCHASE PRICE PAID BY THE PURCHASER FOR THIS PRODUCT.    
This warranty is in lieu of all expressed warranties and liabilities. ANY IMPLIED WARRANTIES, INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY SHALL BE LIMITED TO THE DURATION 
OF THIS WRITTEN WARRANTY. ANY ACTION FOR BREACH OF ANY WARRANTY HEREUNDER INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY MUST BE BROUGHTH WITHIN 
A PERIOD OF 90 DAYS FROM DATE OF ORIGINAL PURCHASE.IN NO CASE SHALL THE COMPANY BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES FOR BREACH OF THIS 
OR ANY OTHER WARRANTY, EXPRESSED OR IMPLIED,WHATSOEVER. No person or representative is authorized to assume for the company any liability other than expressed herein in connection with the sale 
of this product.   Some states do not allow limitations on how long an implied warranty lasts or the exclusion or limitation of incidental or consequential damage, therefore above limitations may not apply to you. This 
warranty gives the purchaser specific legal rights. The purchaser may have additional rights, which vary from state to state. 

NOTE: Please red instructions entirely before installing this product. Drilling is required for installation. 

Products licensed to N-fab Inc. by Fichter Deisgns are protected by US patent law and International Copy Right law.  US Patent #6588783, # 6874801, 
#7416202.  Other patents and continuances pending.  N-fab products configuration also protected by International Trade Dress Law.  All Design and 
Patent infringements will be prosecuted to the full extent of the law.   
 


